ADDING AND SUBTRACTING UP TO MILLION WITHOUT CARRYING (HN—aﬁ];élf 3)

TEST 3

Time: Score:

0229284 — 124124 =

2 366520 + 530038 =

9 540642 + 101233 =

9582633 + 104350 =

5 711319 4 126260 =

6 396518 — 234114 =

0 309891 + 240005 =

5 309476 — 9361 =

9 775625 — 131014 =

100603742 + 26112 =

119608719 — 8208001 =

12) 5550254 - 4402521 =

13607336 + 70402 =

1) 981312 — 431211 =

15) 825356 — 623225 =

Mathematics: Mixed - Level 7 - Horizontal - Set 3
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521865 — 11704 =

394258 — 264204 =

913940 + 26037 =

562118 + 304611 =

946254 — 725214 =

613035 + 74463 =

213715 + 783283 =

8692921 — 7270810 =

4432619 + 405240 =

704185 + 211804 =

929341 — 809241 =

953123 + 23404 =

413842 + 2145 =

583820 + 15159 =

478274 — 114104 =
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